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= Year 11       = SEQUENCES & SERIES       = Worksheet 2
	1. Determine whether each sequence is geometric or not.
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	2. Find the first four terms of the geometric sequence whose 5th term is 20.25 and 6th term is 30.375.

    

	3. Find the 10th term of 
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	4. Find the 8th term of 
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	5. The major frequency interval between a musical note and its first overtone is called an octave. Start from note A (440 Hz), the overtones (one octave apart) of A are 440, 880, 1760, ……

What is the common ratio? Find the frequency of the note that is 3 octaves higher than 880 Hz.
	6. Western music divides up an octave into 12 intervals, called semitones, e.g. between the middle C (261 Hz) and its first overtone (522 Hz), there are 12 intervals (11 notes).
261,…………………………….., 522 form a geometric sequence consisting of 13 notes. Find the common ratio.


	7. If  $1500 is invested in a bank deposit at 5% p.a. compounded annually, how much does it worth after 5 years?


	8. A car depreciates at a rate of 15% per year. If it was originally valued at $25000, what would its value be after 8 years?



	9. Find the sum of the terms in each of the following geometric sequences:
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	10. The sum of the first eight terms of a geometric sequence is 82 times the sum of the first four terms. Find the common ratio.


	11. The number of bacteria in a colony doubles every 15 minutes. If there were 25 bacteria initially, find the number of bacteria after 3 hours, assuming that none died.


	Numerical, algebraic and worded answers.
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1.  No, no, yes, yes


2.  4, 6, 9, 13.5


3.  (0.125


4.  1594323/1048576


5.  2, 7040 Hz


6.  21/12 or 1.0595 approx.


7.  $1914.42


8.  $6812.26


9.  547/81, 14197/81, 1026


10. ( 3


11. 102400
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